
Имя: Ключ к правильным ответамРазложение неправильных дробей
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Ответы

об. 164⁄10

1. 193⁄7

2. 122⁄7

3. 145⁄6

4. 131⁄2

5. 94⁄5

6. 51⁄6

7. 111⁄2

8. 112⁄3

9. 131⁄5

10. 134⁄9

11. 134⁄6

12. 158⁄10

13. 201⁄3

14. 94⁄7

15. 124⁄9

16. 132⁄3

17. 151⁄5

18. 152⁄4

19. 118⁄9

20. 151⁄2

Разложите каждую неправильную дробь.

об)
10 64

10
= 164⁄10

1)
10 66

7
= 193⁄7

2)
4 58

7
= 122⁄7

3)
10 29

6
= 145⁄6

4)
8 11

2
= 131⁄2

5)
4 29

5
= 94⁄5

6)
2 19

6
= 51⁄6

7)
5 13

2
= 111⁄2

8)
7 14

3
= 112⁄3

9)
5 41

5
= 131⁄5

10)
9 40

9
= 134⁄9

11)
3 64

6
= 134⁄6

12)
5 108

10
= 158⁄10

13)
10 31

3
= 201⁄3

14)
7 18

7
= 94⁄7

15)
7 49

9
= 124⁄9

16)
7 20

3
= 132⁄3

17)
9 31

5
= 151⁄5

18)
6 38

4
= 152⁄4

19)
4 71

9
= 118⁄9

20)
5 21

2
= 151⁄2
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